9ESNG

LISI AEROSPACE - Please refer to Central Documentation Website to check validity

2600 SKYPARK DRIVE
TORRANCE. CALIFORNIA 50309
AREA CODE 213 + 775.3181 + 326-8110

100°
*2°

BN502 SLEEVE

GENERAL NOTES:

1
LA
/.

—4 GRIP+B #,010

|-NIEF.)-» ‘

—————f

S—

=

|
[
1
:
I
L

ELLIPTICAL SELF.LOCKING ACTION

GuN
MANDARL

WORK
l,.. °
;X_] CLEARANCE REQUIRED
; . .

SECONDARY
STRUCTURE

Py —=
PROTRUSION

(REF) |

t———BLIND NUT ASSEMBLY

3 )

i

| e .85 DIA- EXPANDER INSTALLED ! !
X : i | EXPANDER
e — 0 DA, SLEEVE N SLEEVE
: . . WORK
EvE DE
024(REF.) e EAPANDER SLEEVE AND EXPANDER ASSEMBLED COMPLETED BLIND NUT ASSEMBLY
ON MANDREL, INSERTED INTO WORK, SHOWING SECONDARY STRUCTURE
READY TO SET AND INSTALLED BOLT
al?}l:lnse;lﬁul‘ BN502 BB516GA HOLE PROTRUSION
SLEEVE 1 EXPANDER AFTER
ASSEMBLY PREPARATION INSTALLATION
FIRST FIRST A oo o o D PART ] J o
DASH DASH H ! [ THREAD HOLE P 2 P
NUMBER Numeer | ' e i Yok, | e | O NU('S“' DA DIA. DIA.
’ .229 .169 173
-440 -0 | ooy | 210 | 225 167 BB516GA-5 .167 | .153 | 4-40UNJC-3B o | 3T .210 | .175
6. 3z | 278 80 295 -218 B516GA-632 2 -222 05 2
-632 - a7 | -2 . 2380 | ‘536 BE5 & 217 | .215° | 6-32UNJC-3B ‘219 | -5 .285 | .260
.317 .257 .264
-832 832 | Toyp | -315 | 330 | 70 | ol BB516GA-8 255 | .245 | 8-32UNJC-3B ‘o5 | 570 .335 .| .290
. 372 .312 . 319
-1032 1082 | oo | 4380 | 420 | 460 | oo BB516GA-1032 | .309 | .307 | 10-32UNJF-3B a1z | 697 .410 | .350
-428 . 450 .390 BB516GA-12 . 1/4-28UNJF-3B .897
30 428 | e | 480 | 450 | 450 | U ereisca a1 38 | 9% 7euRTe s 391 | 828 510 | .420
-524 .528 .468 BB516GA -14 5/16-24UNJF-3B .477 |
=5 524 | "ooq | o500 | .00 | .s00 | o0 Phiicass ] 8 | 429 5 ic-1sUNICss e | 939 .600 | .470
-624 .590 .530 BB516GA-16 . 3/8-24UNJF-3B .539
15 -624 | "ggp | -850 | 550 | .550 | ‘Co. oEs16GAeTe | 521 | 491 3% ieUNIC.IB ‘531 | 1-050 .662 | .530
-720 . 652 .592 BB516GA-720 7/16-20UNJF-3B .605
i =720 | Tgun | -600 | 600 | .00 | oo SR16GA 714 ] 88 | 552 % 16 1aUNIC R seg | 1-162 .720 | .592
-820 714 .654 BB516GA-820 . 1/2-20UNJF-3B . 664
315 |-820 | Tpog | -650 | .650 | .650 | .20 FBsl6GAss | 64 | 614 T istnican o5 | 1-275 .85 | .650

BB516GA EXPANDER

BN536 BLIND NUT ASSEMBLY

Concentricity: - Hole to "D" diameter within . 005 TIR; GENERAL NOTES: 1. Threads per MIL-S-8879. CODE: First dash number indicates size of bolt to be used.
"D diameter to head within . 005 TIR. Second dash number indicates grip length (thickness
MATERIAL: 17-4PH stainless steel per AMS5643. of work) in 16ths.
MATERIAL: Type A-286 meeting composition limits of the AMS
specifications. HEAT TREAT: 120,000 psi shear. EXAMPLE: BN536-428~;‘Q_
' 3/4 Grip Length
HEAT TREAT: Heat treated to meet the requirements of AMS5736. FINISH: Silver plate per AMS2411. For 1/4-28 Bolt
Blind Nut Assembly which includes:
FINISH: Sandblast. CODE: Dash number indicates expander used in assembly. BN502 Sleeve and BB516GA Expander
CODE: First dash number indicates size of bholt to be used. EXAMPLE: BB516GA-12 = Expander for 1/4-28 bolt, silver . ‘
Second dash number indicates grip length (thickness plated per AMS2411. U.S. PATENT 2,959,999. FOREIGN PATENTS
of work) in 16ths. ISSUED AND PENDING.
B TINE
EXAMPLE: BN502-428-12 = Sleeve for 1/4-28 bolt, 3/4 grip length. BLIND NUT™ ASSEMBLY
100° COUNTERSUNK SHALLOW HEAD
DRAWN DATE | APPROVED ‘ y ATE | REVISION DATE DRAWING NUMBER
ALY i @ shrode| ANBYH
2-4-72
2-1012 © 1972, Hi-Shear Corporation

CODE IDENTIFICATION NO. 73197



